4 Beoordelingsmodel

Vraag | Antwoord Scores

Bioscoop

1 maximumscore 4

* 2x10,50+ 2 x 8 =37 (euro) 1

* (37 - 29 =) 8 (euro goedkoper) 1

. | prijs 37 1 8 ’
procent 100

* Het antwoord: 22(%) (of nauwkeuriger) 1

2 maximumscore 3

+ 38:5=7,60 (euro) 1
* (70:10 =) 7 (euro) 1
* Het antwoord: (7,60 — 7 =) 0,60 (euro) 1

3 maximumscore 2

gram 100 1 265 1
prijs 1,60
* Het antwoord: 4,24 (euro) (of 4,25 (euro)) 1

4 maximumscore 3

+ 30+96+ 12+ 6 =144 (minuten) 1
« 144:24=6 1
* Het antwoord: (6 x 1,25 =) 7,50 (euro) 1
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